(a+Db)(x+y)—2(ax + by)
= ay + bx —ax — by
=a(y-x)-b(y-x)

= (a-b)(y-x)

A a-b>0, y-x<0
(a4 Db)(x+y) < 2(ax + by)




2.

FFa b7tatb=1TZNL Y, T P=a’+b°, 0 =a’ + 1

SEES R EER Y o

® P>Q @ P>Q ® P=0Q
@)P<Q ® P<Q

~&B

a, b=4Fold g+ b=19E2
0<a<1l,0<b<1
Ebh=1-a0B=
P=a+b=a*+(1-a)
=a’+1-3a+3a®-a3
=3a’-3a+1
Q=a’+b*>=a’+(1-a)?
=a’+a®>-2a+1
=242 -2a+1
P-0=3a>-3a+1-2d>+2a-1
=a’-a=ala-1)
J8dl0<a< 19822 ala-1) <0
LP-0<0°1P<Q




O<a<b a+b=1% 1t b ¥ 5 EE 40| 45 vTF A
% A%E ALY

1, ~a+ Vb, Vb-+a, Vb-a

® Vb-va<Vb-a @ Vb- va< va+ Vb
(@)«/ﬁ+«/§<1 @® Vb-a<1

® Vb-a< \a+ Vb

B

FolZ Y| 5 BF ol B2 AlFo] ta TAE ot
(i) (vVa+ Vb)2-12 =a+2Vab+b-1
=2vab >0
(Va+ vb)* > 1
oANa+ Vb>1
(i) 12~ (Vb-a)®? =1-b+a
=(a+b)-b+a
=2a>0
L 1>vVb—-a
(iii) (Vb —a)® - (Vb~ va)®
=b-a-(b-2Vab+a)
=2+ab - 2a
=2va(Vb~ a)>0
s Vb—a>Vb-+a

(1),(ii),(ii)NA va+ Vb>1> Vb—a> Vb- a




4.

0<x<1,0<y<1, 0<z<10AFx y, 2
WA o k= xy + yz +zx7F 7HE & Q= 7o) M=

4 4
®1<k<§ ®1sk<§ ® 0<k<?2

@ 0<k<?2 ® 1<k<3

Tbx+y+z=2%

x<1l,y<1o4 1-x>0, 1-y>0°]B2 (1-x)(1-y)>0

FHA x+y-1& Holal HAZKS SFE FolTH

y=1-x)(1-y)-(1Q-x-y)>x+y-1

o7 O 2 yz, zx & ot HH
xy=Q1-x)1-y)-(1-x-y)>x+y-1
e=(1-y)1-2-(1-y-g)>y+z-1 °IA
=121

xy+yz+zx>2(x+y+z)-3=2-2-3=1

F, (x+y+2)? = 3(xy+yz+zx) oA (0 24+y*+22—xy—yz—zx 2 0

ol A F Wl 3(xy + yz + zx) & TS}

4 > 3(xy + yz + zx)

X)—(l-z-x)>z+x-1

ol

Cl<xytyzt+x <




